| Maths: 50 QUESTIONS
A& S & NRFHTFFMTTLO

1.a:b = %:%, b:c = %:% LMHoILD c:d = %% 6T60l 16V a:b:c:d & TeooTS:

A) 16:24:30:35 B) 60:45:24:4

C) 24:4:60:45 D) 45:60:24:4

2. 0.08 LHMILD 0.32 B weummler Frmer] eSS LD eredTeor?

A) 16 B) 1.6 C) 0.16 D) 0.016

3.4 nMHMID 8 YL Hweumnedr epedTMmmeugl 81 & &L0 60T 6T6oT6OT?
A) 16 B) 14 C) 12 D) 15

4.X,6,12 @ QML T 55 H6L @)\ (HHS ML X 65T LG LIL] 6T60T60T?
A) 2 B) 4 C)3 D) 1

5. @ HLb &MevoTas: 16°° @ 4

A) 4:1 B) 8:1 C) 16:1 D) 1:1

6. FaL_(® NI GLD SHTevorss: (2:5), (3:9), (10:4)

A) 3:1 B) 1:3 C) 2:3 D) 3:2

7. x:y = 6:3 eT60r16VL (8x + 5y) : (5x + 8y) &HITEVOTS:

A) 3:6 B) 6:9 C) 5:7 D) 7:6

8. (a+b):(b+c):(c+a) = 6:7:8 LOMHMILD a+b+c = 42 eT6vTl6L ¢ 60T LOFLIL| & TEUOTS:

A) 20 B) 18 C) 12 D) 22



9. @\ eTevoTS6rfl60T NGB LD 6:7 UMM 6T Fa (NS 6L 260 eT6vl6L j6uMNleoT G Yl
6T600T WIITSI?

A) 140 B) 120 C) 112 D) 100

10.—-= - aeflev (x +7) : (y + 4) Hevora:

A) 4:7 B) 7:4 C) 2:4 D) 2:7
11. PO GOTMI 6TEUOTS6IT 5:6:7 6T6dT S &5 H 6L 2_6iTeT6uT. f6uM NI 60T Q\LI(IHE 6V LI6V 60T
5670. eTevrl6L j6umM M edr QLI 6TevoT WIMTSHI?

A) 12 B) 21 C) 25 D) 15
12. A WSletT 80% 260151 B udleor TS &G FL0LD 6Tevll6L A:B WIMg?

A) 25:16 B) 16:25 C) 16:7 D) 7:16

3x + 2y
9x + 5y

13. x:y = 2:3 eTevll6L 60T L0\ LIL] eTedTenr? (PYQ)

A) <+ B) it C) ot D) o+
14. 6 LSL_LIJ IHem(L6iTeT 6 SLOLIG B 6ot BILpedledr Herin 15 IO LI eTevllevL 25 AL LT
BILP6V Q& TeUOTL. &LD LIS B 60T [HeITLD 6T60T60T?

A) 10 1§ B) 160 LS C) 120 1§ D) 1005

15. @\ (H 6T6VOTS6IT 2:3:5 eT6dTM 69160 & & T 6L 2_6ITET60T. 3] 6U MM 60T 6L 785 85 Ml &5 61l 60T
Fa.(H) &6V 608 6T6vTI6L I [HG 6TEVOTS: 6T LI TEmIGU ?

A) 8,12,20 B) 4,6,10 C) 5,10,15 D) 10,20,30

16. & (H (N & C 5 ITEVOTS B) 60T LI & 85I 611 60T 15615 &) 601 61 & & MG 6T (LemmG 2:3:4
LLMHOILD Sjeumnledr &mmermey 81Q & .13 eTevl 6V HevorL LI& &S S 6T HETLD eT6dT60T?
A) 29 Q&F.15 B) 42 Q&.15 C) 25 Q&.18 D) 36 Q&.18

17.a:b=c,d = e:f =1:2 erevfl6L (3a + 5¢ + 7e) : (3b + 5d + 7f) 60T LOG)LIL] 6T60T6OT?

A) 2:3 B) 1:1 C)1:2 D) 2:1



18. @)\ (H 6T6UOTS 6T 3:4 6T6dTM N B GG F6L 2 6iTeSI. 9 6uM M) 60T LS.F).L0 240 eTevl 16V
(LPSH 6V 6TEUOT 6TEOTET ?

A) 54 B) 64 C) 60 D) 50

19. 7:15 eT6dTm) NG G5 1L 60T 6THG 6T6UOTE0)GU0TE T L_LQ60TITEL 5SS NTFLD 7:11 94,5
LOmomIn?

A)6 B) 7 C) 10 D)9

20. HHeMS LOMHMILD LD 86018 61Tl 60T 6 Z1 S 61l6T NG G0 3:1 6T60T 2_6iTeSl. @) (HLISI
6U(BLMBIGEH GG LN6tTL S euTsserfledr euwl gl eGS0 2:1 6T6vT LOMmITH M Sl.6T6v116L
SHems L0MMILD L0 & 60T 6rfl60T &MHELITEM S L 61 LISl 6T60T60T ?

A) 20:60 B) 40:20 C) 50:30 D) 60:20

21. @\ 2-HemeTulledr QD WMMIDL 2 Wrnkiserfler 696 g mk&eT (nenmGu 2:3
LMHMILD 5:6 6T6vTl 6L UMM 60T SH6oT 6mey S erfler NG G LD eTetTeOT? (PYQ)

A) 54:20 B) 10:27 C) 27:10 D) 20:50

22. eLN6OTMI 6 TS5 60T M1 &5 61T 60T Ceu g Mg erfleor NG G0 2:3:4 6T6dTM 6816 &5 B 6L

@\ BHSITeL BT I 6MeY HNTHMS &L &S I M6UG6T T(H &S558 Q& ITETEHLD

Gy erleor G GL0 eTedTEOT?

A) 6:4:3 B) 4:6:3 C) 3:4:6 D) 4:3:6

23. @\ (1 eTevur6rfledr NG GLD 3:5 @)\ (1H 6TevoTSH6rf18VILD 10228 Fan L L9.60TIT6V 606U & 61fl 60T
M@ GLD 4:56T60T LDMTMITE M S 6T60I 16V 2 6UNI(IH 6TEUOTS6IT WITEDI6U?

A) 6,10 B) 10,5 C)7,6 D) 6,9

24. =" eTeull6L (x+7) : (y+4) &3 STevorss: (PYQ)

A) 4:7 B) 7:4 C) 2:4 D) 2:7



25. e ST ludlev 2_6iTerm LoMevoTe LOMevoTeN S 61fl6tT NGB 5:6 )& & evaunifludliey
2_6iTeIT QDTS S LOIT6UOTEU T 6T 160 6T6vr 16V & & evaunifludléy QDTS S LD MevoT6U

Lo mevoTedl & 6T 615 & 6meor GLIT?

A) 160 B) 192 C) 172 D) 352

26. eLpeoTmI LnmevoTeu J& erfleor &Fmaifl euw gl 25 UIHLLD ) 6uiTss6rledr 6u I8 erfleor
NG MG 6T (NemMELU 4:5:6 6T6vl 16V LD LD TevOTEU T8 66T QLKW Lo mevoTeurfl 66T
6U W S 6T6OT60T?

A) 30 B) 25 C) 35 D) 20

27. M SevuTludlev 2_6iTerm L mevoTe LomesorellWT 6:5 eT6dTm 6516 &8 )6
2_6iTeImeuTIy.L0TevoTeU L0 MevorellWwirf60T 6T6voT60011 8608 (LDemMEGLU 20% oM MILD810%
B &flHGID CUTEH HenL &G LT W eGS0 eredTeor?

A) 70:50 B) 50:70 C) 55:72 D) 72:55

28. 20 OILLIJ S6vemeuuilen 20% S46VAMNS&TYILD LIGLD & 600T6U0T(HLD 2 6iTeSl. @) F)ev 4
GOILLIJ SevoTennl T GFTHST6L B0 & (GLD LW &Hevemeuudlev 2 eirerm
LLVHAMMTES 6T F& 6T LD 6Tl 6ETE?

A) 16— % B) 16--% C) 27 D) 18--%

29. g6l eTedTLIGUT [HITEIT 660TMIE G 6 06Tl GBI Geuemev QAFWR MY .LNT&mag
6T6OTLIGUIT [HIT6IT 660TMIE G 71060011 GHILD 30 HILSIL LD CGeuemev QFWRMTT 6r6vil6vL
36U & 6T Gouemev QFWIW LD CHImISGerfleor e8GR &LD eTedT60r?

A) 3:4 B) 4:5 C) 2:3 D) 2:4

30. 4 9L,600T&H6IT , 5 GILIEUOTSH 61T ,6 (BLPIHEMNSH & EH &S €1H.425 31,60TS1 9:8:4 eT6dTM

AR G5HF 6L LNf58 QaETHESLILGTH M 6Tevll6V LIS 6T QLIMILD Q5T
eTeu6U6ITeY ?

A) e15.160 B) e15.170 C) e.220 D) e15.205



31. @ GMIULILL Qg menswimeorgl A,B,C,D ((nemmGul 7:2:6:5 eTedrm & &5 S 6L
L& 8 eupmisLIUG&MmE Denw 69l C&@G epUIM 2000 8a(h&H6VMTEH R &R M)
ereurleL BuSledr LIMhIG WITSI?

A) 2000 B) 6000 C) 4000 D) 3000

32. HHeMS LMHMILD L& 6vTl 60T euUW Gl NGB 8:4 I euTs6erleor 6u I8 erfleor
QUG SH6L LOGLIL] 800, eTevil6L 5 QUIBHMEIHEHESHES LM G S euFseriler euw gl & gL
6T6OT 60T ?

A) 16:4 B) 9;5 C) 12:6 D) 10:4

33. e emLIugleL 31 32 35 [HTEOOTWIMGIGGT 4 : 3 : 2 eTedT) TGS F6L 2_6iTerTent.
emLIUS6L 2_6iTem QLTSS QG MTemn&Ull6dT LG LIL] I500 6T6vil6L Y2 [6ITEUOT L i & 6rfl 60T
L0\ LIL] 6T60T6OT?

A) X100 B) X120 C) X150 D) X130

34. HMBIGLD F600T600T 60T CLIMEOTMI 19 LOLMBI(G SH6OTLOMErSl ,Q &FLDL| & 650T6001 60 [T LI
CUITLI6dTmI 9 LOL IS S60TMeuTSl. @ eumenm eTeu 6l &5 H 6L &6VIHS M6V

5 600T6U0T6M T L1 GLITEOTMI 15 LOLMI@ &60T(LN6ITET 2_CeVMT&H & HeVemel FHemL &G0 ?
A) 1:1 B) 2:3 C) 1:2 D) 3:2

35. @\(p eTevoraserfledr 616 & MG 6T 6:5 ,(LN S 6V 6T6U0T6U0I60T 50% 6T6dTLI S 420 6T6vil6L
@) [T60OTLITLD 6T600TEUOT160T 25% 6T6U6U 6T ?

A) 50 B) 100 C) 210 D) 175

36. OITD , MG 6L 3L, W @) (HeurledT 6U(HLOMeTLD 8:9. TITLAl 60T 6U(HLOMEOTLD 50%

2 WHHRMS.CH CUITETMI & 60160T 6U(HLOITEOTLD 25% (& 60 M &\ m 1.7 T 65T
6U(IHLOITEOTLD €15.48000. 6T6vil6L TITLD LOMHMILD TTE6960T LG 61 (IH LD IT6DT i & 61l 60T
A&\ LD eT60TEOT?

A)3:9 B)9:16 C)16:9 D)16: 15



37. 15.8053 % :%:% eTedTm NGS5 T 6L eLneTm LIMSLME LN fl5 8 mew 9)Lbeweormi

LI T8 M1 & 6111 60T Q155 IT61) 8585 61T 6T6L 6L 61T6Y?

A) 210:280:315 B) 280:210:315

C) 315:280:210 D) 280:315:210

38. @B 2-CeuITa Hevemeuuilél QFLDL|LD FI5 S HTSH(LOLNT:9 eredTm N S5 T 6L

2 _6Tenal. @\ HS NFHLDMTeTSI 3:5948 LOMM 675 HeM60T R FMD TSI CFTEHS
Geuetor(HLD?

A) 30 kg B) 32 kg C) 34 kg D) 36 kg

39. LMsIlD BHLD HVHS &6VEMEUWITETS eLN6TM LITSH Tmisserflev 3:2, 7:3 ,11:4
eT6oTm N &5 H 6L 2_6ITeTSl. CLNTM LITS B TS H 6L 2_6T6IT Hevemeuen il Gy
LTSS 78S 6L 261l 60TITeL H 6L & (G0 QLOMSH S Sevemeuulleéy Limev ommid Hfleor
& gD eTetTenT? (PYQ)

A) 61:17 B) 61:29 C) 53:17 D) 53:29

40. feorm LM MILD 269 Mel6dT HMHECLITEMS L 6UW SIG6T (LPNeMMEL 24 6 (H L MBI 6T
LMHMILD 36 6U(HL MG 6T 6T6vl16V 8 31,600T(H & EH &S (LN6ITL] 269 Lo mILD 1feor mes) 6ot
eauw SIS erfler eIGGLD eTetTeOTOUTS @) (HSHGWD? (PYQ)

A) 4:7 B) 3:7 C) 7:4 D) 7:3

41.17:24 eTetTm) GGG S1L60T 6T[H G 6TEUITEN 60TS T L_LQ6UTITEL 6LV &IOS SHMEL 1:2
L5 LDMMID?

A) 5 2 Sal L Geuevor(hLD B) 10 gnLL. Geuetor(hLD

C) 5 8 &&8 Ceausvor(hLD D) 10 &1 &8 Geuevor(hLD

42. 200 K\JTD 2.CeuTs HevemeuUileL HIHS BTSN STLSTUNLD 5:3 6T6dTM

NR G5BT 6L 2 6Tenal .Q\HH NFBSLOMETs 3:5 945 LOMM TS5 HemeoT FHTTD SISl

C&FI&s CGeauetoT(HLD?



A) 143 &\gmb B) 116, &ymb C) 126G ymb D) 133 @ ymib

43. G5 T, W eTedTm @\ (B HLIFS6rfledr u@BLOmeoTld 2:3 eTeoTm 6% & & B 6L

2 _eTengl. 96U efleir QFeveyserfleir NG S0 1:2 91, GLD .6 6UGEUTIHEUHLD LML
eh. 24000 G&F LA G FH edTM6UTT 6T6vI6L UG 6rleL EHmelledr 0TS 6u(HLOMEOTLD
eTedreor?(PYQ)

A) 24,000 B) 48,000 C) 12,000 D) 35,000

44. ¢15.68000 2 F MG, (H600T,SITTS ) 6T60rM CLOGITMI [HLITE 6155 (S % :%:15—6 6T60T M
A G5HH 6L N5 ellsHM6L H& QAFHMTensS QLIMILIGUT WITH?

A) FEIST B) <1 6vor

C) &Mj5S) D) Si(B6voT LoHMILD STTSE)

45. @\ 1yevor(h) eTevoras6rfledT NG LD 3:5 eT6dTM 9T &5 H 6L 2_6iTEITEUT. 3| 6uM)l6L
QuUflw erevor 75.6160116L @) F6voT(h) 6T6V0TE: 6111 60T Fon.(b) &6V 6T6OTEOT ?

A) 40 B) 60 C) 120 D) 126

46. @\(IH 6T6UOTS 61T 3:4 6T60TM TGS FH 6L 2_6ITEMEOT I|6UMMIL 6T 622 Fnl(HILD CLITS
SIhG eTevoT6v0r 60T 611G & L0 MeOTSI4:5 6T60T LOMMIT M Gl. 6T6vT6L I h T 6T6v0T S5 61T 60T
ANGHWITEFLD 6T6dT60T?

A) 2 B) 3 C)5 D) 6

47.CL0em R WMHMID HTHE&HTedSudletr eflemevull 6T NG & LOMeOTSI 5:7.3) 6u M N 60T
aflemev & 6T (emMGCW 10% , 20% T &HFlEHRMSI. erevflev LS W eflemevullesr & gLD
6TGOT6OT ?

A) 55:84 B) 15:32 C) 25:37 D) 46:23

48. A,B,C o1, S\CuIMHledr &FLOLIETHEISET 3:4:5 eTedrm NG &5 H 6L 2_6iTengl. 2er G

2 Wwiyey (WnemnmGCuw 10%,20%,30% eupmisLL L NeTL ojeuFserfleor LS w

261 ) LLIMGI &5 61Tl 60T 2_LLIIT6) 6T60T60T ?



A) 33:48:65 B) 48:65:33

C) 65:48:33 D) 33:65:48

49. (& LOMMILD TITRIT 6T6dTM @) (B HLITS6r160T 6u(HLOMeuTLd 5:3 eTedTm N6 &5 F6v

2 _eiTengl. Y euFserfleor QFeveyserfler NG GLD 9:5 91,(&GD. TS €1H.2600 LOMHMILD FTMT
¢5.1800 C&FLAl & & 60TM6OTI. 6T6vr 16V @) (1H 6u Il 60T 61 (IH LD IT6OT MG &5 6T 6T60T60T 2

A) €15.5000, er5. 3000 B) €5.9000,¢m5. 5600

C) 15.8000, ¢m. 4800 D) ef5.10000,er5. 6000

50. (B SHeLNFluN6L 2_ 6T QDTS S LOITEUOTEU T8 61T 60T 6T6U0T600T18:608 660 3|5 6L
), 600785 @5 LD, G\ LI600TS @B LD 13:9 eTedTm eNI& &5 F6L 2_6TemeuTy. Flev HITL &6 &85 Sl
30 QUENITSH 6T B SHMSH aulh Sl C&F(H&R Tmery.2|C8 CLITeTmM & 6u L, 600T5 6T
seoaunflemw el B Q&F et miell(H) & 6eoTm6oTT. SMHELITSHI 4,600T LDMMILD G)LI6vOT

NI G0 6: 5 6T60IN6V 678 FH6060T L, 600TSH 6T &L Flemw Sl () Q&F6dTmeuTy?

A) 20 B) 30 C) 40 D) 35

660G 61T :

1. ab = %% ,bic= % :% LMHoILD c:d = %% 61606V a:b:c:d &TevoTS
A) 16:24:30:35 B) 60:45:24:4

C) 24:4:60:45 D) 45:60:24:4

SOLUTION:

a:b=%'7\‘% =6:9=2:3

bic=2% = = 28:35=4:5

14




cd=—R - =30:35=6:7

& A:B:C:D =16:24:30:35
2.0.08 LM MILD 0.32 LB weummletr Frmafl NG GO eredreor?
A) 16 B) 1.6 C)0.16 D) 0.016

SOLUTION:

= - _ 8 32 _ 256 _ 16 _
C'\/E_ \/0'08 x 0.32= \/100 X o0 \/100><100 =00 - 0.16

3.4 MHMILD 8 YL FWeummedT epedTMmeugl eS1& & &L0 6T 6T6oT6T?

A) 16 B) 14 C) 12 D)15
SOLUTION:

a= 4, b= 8 eTetT Q\&HMETSH

A:b =b:c

4:8 =8:c

8X8

n = ¢=16

Cc=

4.X,6,12 (1 QSTLT 1§ 55 F 6L @ [HHSHTEL X 60T LOGLIL| 6T6OT60T?

A) 2 B) 4 C)3 D) 1
SOLUTION :
a:b=b:c
a _ b X _ 6
B - 7% 12
= 6X6 =3

12

5. NS0 &MevoTS: 167 1 4°

A) 4:1 B) 8:1 C) 16:1 D) 1:1



SOLUTION:

7
_ 47_ 45_ 4 Ax4x4x4Axax4dx4 16
- . - 45 T 4x4X4AX4X4 1

=16:1

6. oL NI&HGLD Hmevorss: (2:5), (3:9), (10:4)
A) 3:1 B) 1:3 C) 2:3
Soln:

A:B=2:5

C:D=3:9

E:F=10:4

Fal(h) NS LD = ACE : BDF

_ ACE
BDF

— 2x3x10
5x9x4

60

180

1
3

=1:3

Ans:1:3

7. x:y = 6:3 eT60r16L (8x + 5y) : (5x + 8y) SHITEVOTS:

A) 3:6 B) 6:9 C) 5:7
SOLUTION:

x _ 6

) 3 = x=6 ,y=3

8x+5y=(8x6)+ (5x3)=63

D) 3:2

D) 7:6



5x +8y =(5x6)+ (8 x3)=54

(8x + 5y) : (6x + 8y) =63 :54=7:6

8. (a+b):(b+c):(c+a) = 6:7:8 LM MILD a+b+c = 42 eT6vl16V ¢ 60T LOB)LIL] SITEUOTS
A) 20 B) 18 C)12 D) 22

SOLUTION:

a+b =6x, b+c =7x, c+a = 8x

(a+b) + (b +c) + (c+a) = 21x

2(a+b+c) = 21x

2 x42=21x
2X42
X=— =4

atb=6x =6X4=24
(a+b) + c =42

24 +c =42

C=42-24=18

9. @\ eTevoTS6rfl60T NG LD 6:7 UMM 6T Fa(H 6L 260 eT6vl6L jeuMnileorT &l
6T600T WIMTSI?
A) 140 B) 120 C) 112 D) 100
SOLUTION:
6p(Ih 6T600T= 6X, LDMGMIT(H 6TETOT = 7X

leuMM6dr Fn(H &6V = 6x + 7x = 260

@ ) W 6T6TOT = 6 X 20 = 120

10. = = L erevflev (x + 7) : (y + 4)5T600TS:

4

<%



A) 4:7 B) 7:4 C) 2:4 D) 2:7
SOLUTION:

7x=776r6'0ﬂ6bx=7,y=4
(x+7): (y+4)=(7+7);(4+4)=14:8=T7:4
11. eLOGOTMI 6T6UOTS6IT 5:6:7 eT6dTm B &G F6L 2_6iTement. j6umM N 6dr G\LI(HE &6V L6V 6dT
5670. eTevil6L j6umMedr QLI eTevor WM ?
A) 12 B) 21 C) 25 D) 15
SOLUTION:
IIhG 6Tevor = 5x: 6x: 7X
QLB &6V LIGVETT = 5670
5x X 6x X 7x = 5670

3 _ 5670
5X6X7

3 _ 5670 _
X == =27

X=+27=3

eTeurl6L SjeuMmMI6L Quflwerevor = 7x =7 x 3 = 21
12. A uSleT 80% L 60TSI B u.‘ﬂa’rrTS &G &FLOLD erevfleL A:B wWmgl?
A) 25:16 B) 16:25 C) 16:7 D) 7:16

80% of A=TS of B

80 5
100 XA=— xB

A _ 5x100 _ 25

B~ 4x80 16

A:B =25:16



3x + 2y

13. x: y = 2:3 eT6vfl6v 60T OB\ LIL| & Tevors:(PYQ)

9x + 5y

3 1 4 5
A) 11 B) 11 C) 11 D) 11
SOLUTION:
w = 9- X = 2 = -
xy=2:3 = =3 = x=2,y=3
3x +2Y _ 3x2+2x3 _ 6+6 _ 12 _ 4
9x + 5y 9x2+5x3 18415 33 11

14. 6 LOLLIJ IBemTO6TeT 6p(h SIS 60T HInedletr Bern 15 IO LT eTevrlev 25 IS LT

BILP6V Q& T6OOTL. &LD LIS S 60T [HeITLD 6T60T60T?

A) 10 LS B) 160 LS C) 120 1S D) 10018
SOLUTION :

6:15=x:25

6 - _x

15 25

- 6>1<525 =10

SLOLIG S 6T Bermrb x =10 LSLLT

15. @\ (IH 6T6VOTS6IT 2:3:5 eT6dT N6 &5 T 6L 2_6ITEM6OT. 3] 6u M NI 60T 6L [T 55 85l & 611 60T
Fa.(H) 56V 608 6T6vTI6L I [HG 6TEVOTS: 6T LI T6mI6U ?

A) 8,12,20 B) 4,6,10 C) 5,10,15 D) 10,20,30

SOLUTION:

3|HS 6T6UOTH6IT = 2x : 3X : 5x

6U T8 8515 61Tl 60T G (h) &6V = 608

2x)" + 3x)" + (3x) =608

4x2 + 9x2 + 25x2 = 608



38x° = 608

2 _ 608 _
x == =16

X =16 =4

6T60I 6L I IH S 6TevoTE&HET = (2x4) (3x4) (5x4) =8,12,20

16. @(H (NS C S TEUuTS T 60T LI585 MG 6rfl6or 1h 6 T 6dr 69 &\ & MG 6T (pemmGl 2:3:4

LHMILD Sjeummleir &mHmemey 81Q & .13 eTevrev HevorL LI1& &S S 60T HETLD 6T6dT60T?

A) 29 Q&.15 B) 42 Q5.8 C) 25 Q&F.15 D) 36 Q\&.L5

SOLUTION :

2x + 3x + 4x = 81

9x = 81

X=9

BHevorL LG&HSH BT 6T BeTd &mevor = 4x9 = 36 Q&F.L0

17.asb=c,d=e:f=1:2 erevflev (3a + 5¢ + 7e) : (3b + 5d + 7f)60T LOB)LIL| & T60OTS:
A) 2:3 B) 1:1 C) 1:2 D) 2:1

SOLUTION:

atb=c d=e:f=1:2
—=—=— =—cefléva=c=e=1,b=d=f=2
(3a+5c+7e):(3b+5d+7f )= (3 x1+5x1+7x1):(3Xx2+5%x2+7 x2)

=(3 +5+7):(6+10+14)

=15:30=1:2

18. @)\ (H 6T6UOTS 6T 3:4 eT6dTM N &5 F6L 2 6iTemGI. 9| 6uM M) 6T L.F).L0 240 eT6vl16VL

(LD GH6V 6T6UOT 6TEOT60T ?

A) 54 B) 64 C) 60 D)50



SOLUTION; (103 6L éTetor = 3x , S SHS 6T600T = 4x
3x, 4x eor 16.9).10 = 12x

12 x = 240

_ 240
T 12

=20
(PS6V 6T600T = 3 X X = 3 X 20 = 60
& (P& 6L 6T6v0T = 60
19. 7:15 eredrm 6919 &5 51 60T 6T[HS 6T6CUVOTE0)600TE ForL_LQ.60TITEV I[H & IR SLD 7:11 L5
LOmmID?
A) 6 B) 7 C) 10 D) 9
SOLUTION :

7+x _ 7

15+x 11

1M(7 +x)=7(15 + x)
1Mx -7x=105-77
4x = 28

X=T=7

78 Gal L 9Hs NGBS 7:11 91,5 LOTMILD
20. HHeMS LM MILD 08 6T 6rfl6or 6u W ZI S erfledr eSS S0 3:1 6T6oT 2_6IT6MS1. G\ (HLISI
6U(HLMBISEH &S LN6tTL eurserfler euw gl eNI& SLD 2:1 erevr LOMMISH M S.6T6vI 16V
SHema DM MILD 086018 6rfl60T &MELITem &L 6L Sl 6T60T60T?
A) 20:60 B) 40:20 C) 50:30 D) 60:20
SOLUTION:
I0&60T QUW G = X ,&H60S UGl = 3X

3x+20 _ 2

x+20 1




1(3x + 20) = 2(x + 20)
3x +20=2x+40
3x-2x =40-20
X=20
SHen s Wiler HMHELIMEMS W 6uw gl = 3x20 = 60
L0 & 60l 60T SMHBCLITeMNS W 6uLL Gl =20
21. @\ (B 2 (Hemeruiledr QLD WMHMID 2 Wik sGerfler 686 & mi& 6T (WenmGw 2:3
LM MILD 5:6 eT6vTl6L ) UMM 60T &6 6mey S erfledr NG GLD eTetTeoT? (PYQ)
A) 54:20 B) 10:27 C) 27:10 D) 20:50
SOLUTION:

rl=2,r2 =3,h1=5,h2=6 r
& 60T 3| emey&erletT eI = m‘i h1: m"z h2

= x2°x5:mx3 X6

=4x5:9%6

=20:54
& 6T 3| emeyserletT NS HID = 10 : 27
22. eLN6OT M) 6L TS5 60T M6l &5 61Tl 60T Cou &G 6rTl6tT NI & S0 2:3:4 eT6dTm N &S 5 B 6L
@\ BHSITeL BT I 6MeY SHNTHMS &L &S I M6UG6T aT(HH S8 Q& TETEHLD
Gy erfleor G G0 eTedTEOT?
A) 6:4:3 B) 4:6:3 C) 3:4:6 D) 4:3:6

SOLUTION:

GBI = Geus LD

1 1

=1.1.1
2

3" 4



6 3

127 12 * 12

Crrrmgerler GG =6:4:3

Ans:6:4:3

23. @\(H eTevorerfledr NG GLD 3:5 @)\ (1H 6TevoTSH6rl8VIND 10208 Fan L L.60TIT6V 606U & 61fl 60T
N& LD 4:56T60T LDMTMITR M S 6T60I 16V 2 6UNI(IH 6T6VOTSGIT WITEDIEU?

A) 6,10 B) 10,5 C)7,6 D) 6,9

SOLUTION:

6d(IH 6T600T = 3X LDMGMIT(IH 6T600T = 5x

3x+10 _ 4

5¢+10 5

5(3x + 10) =4 (5x + 10)
15x + 50 = 20 x + 40
50 - 40 = 20x - 15x
5x =10

10
X=— =2

6 6T6v0T =3 X 2 =6 ,.L0MQMITJH 6TevoT = 5x 2 =10

24. —-=-- ereuilel (x+7) : (y+4) &3 HTevoTas: (PYQ)

A) 4:7 B) 7:4 C) 2:4 D) 2:7
SOLUTION:

2= qefléox=7y=4;

= et x =7y =4;

(x+7):(y+4)=(7+7):(4+4)=14:8=T7:4



25. e SevuTludlev 2_6iTerm Lo mevoTeu Lomevoredl & erfletrT eSI& G LD 5:6 3|8 &evsumifludle
2_6iTeIT QDTS S LOIT6UOTEU T 6T 160 6T6vr 16V & & evaunifludléy QDTS S LD MevoT6U
LOIT6voT6) & 6T 6T & 6Mm 60T GLIT?
A) 160 B) 192 C) 172 D) 352
SOLUTION:
QLTSS Lomesoredl&6iT = 5x

5x =160

160
X _T_32

QM5 S LoMmeorell &6t = 6x = 6 X 32 =192
QLOM& S LOMevoTed LomevoTedl &6l = 160 + 192 = 352 GUI
26. eLpeoTml LomevoTeu TS erfledr FmeE] Ul gl 25 eu(HLLD 6uTaserfledr 6l &g erfleor
N & & MG 6T (MG 4:5:6 eT6vTl6L LD MevOTEU T8 66T QLIflW Lo mevoTeu il 60T
6U LW S 6T60T60T?
A) 30 B) 25 C) 35 D) 20

SOLUTION :

3 omevoTeU IS 6rfledr QLOMS S UGl =25 x 3 =75

4x + 5x + 6x =75

15x =75

-_75 _
x—15—5

Quflw wmesoreuFsserfledr euwigl = 6 x 5 =30
27. (1 &eunifludlev 2_6iTerr Lomevoreu LomevoredlWIT 6:5 eredrm 699 &5 &) 6L
2_6iTemeur 1. L0mevTeu Lo mevoredl W ifledr erevoTevnll&emss (LNemM G 20% LM MIDE10%
5 &flHG0 CUTEH HenL & GW LT W elFH L0 eredTeor?

A) 70:50 B) 50:70 C) 55:72 D) 72:55



SOLUTION :

Lomevoreu omevoredlwiflesr eN&H LD = 6x : 5x

InrTeoTeu T & erfl 6T LB 6T6uoT6unr18:6m& = 6x + 20% Of 6x = 6X + —— X 6x = bx + — =

omevoredl &6l 60T LG W 6T6voT6u0T1 8608 = 5x + 10% of 5x = 5x + % X 5x = b5x + - = %

36x 11x 36x

resoTeu W mesorefl serfledr LBw e @AFLh = o 5 =25 x 10

x10=72:55

28. 20 OILLIJ S6vemeuuilen 20% S46VMNS&TYILD LIGLD & 600T6U0T (LD 2 6iTemSI. @) F)6L 4
GOILLIJ SevoTennl T GFTHST6L B0 & (GLD L|H W &Hevemeuudlev 2 eirerm
LLVHAMMTES 6T F& 65D eTeu6U6ETE?

A) 16=% B) 16--% C) 27 D) 18--%

SOLUTION :

S46VHAMITEL By6may = 20 % of 20 =21 x 20= 4 6L LI}

6T6ur16L & 6voT6vnt 60T Bj61T6 =20 -4 =16 SILLIJ
4 O\ SevoTeuof ] GFITH STV QOIS S & 600T600! 60T 3J6mey = 16+ 4 = 20 Sl LIJ

QLTSS Hevemeuuiledr jeme] =20+4=2460lLLIy

S EanTell6T FHefgpih = LSV IATA 100 =1 x 100 = % (1) 162%

29. g6l 6T6dTLIGUIT [HITEIT 660TMIE S 6 06Tl GBI Ceuemev QFWHR MY .LNJ&mag
6TEOTLIGUIT IHIT6IT 62 60TMIG & 71060011 GHTLD 30 HILSIL LD Geuemev QEFWSRMITIT 6Tevl16vL
I|6UT S 6T Gouemev QFWIW LD CHmISGerfledr a8 &LD eTeoT60r?

A) 3:4 B) 4:5 C)2:3 D) 2:4

SOLUTION:

76l Geuemev Q&F G CHIFLD = 610601

N y& ey Gauemev Q&I GBLD = 71060011 GHILD 30 BILALLD = —> = —> 1n6vor]



gell ; ysmey = 6: —-=6x2:—-x2=12:15= 45

2

30. 4 24,600T&H6IT , 5 GILIEUOTS 61T ,6 (SLOIHEMNSH S EH 5SS €1H.425 31,60TS1 9:8:4 6T6dTM

AAH G5B 6L LNf58 QaTHESLLBTHMS 6Tevllev GILI6UITS 6T QLIMILD QTN

6T6U 6L EITEY ?

A) em.160 B) em.170 C) em.220 D) em.205

SOLUTION:

31,6007, G\ LI 600T, (& LpH60 S Q& M6 SIS SLD = (9 4 ): (8x5):(4 x 6) = 36:40 :24 = 9:10:6
QLTSS LIMKIG =9 +10 + 6 =25

5 QUIEUT&6T QUMID = 425x - = 17 x 10 =170

31. @ GMULILL QFmenswimeorgl A,B,C,D ((nemmGul 7:2:6:5 eTedrm e &H &5 S 6L
N5 8 eupmisLILUG&MmE Denwl 69l C&@G epLUIM 2000 8a(h&H6VMTEH R &R M
6T6uil6L Budledr LIMI@ WIms?
A) 2000 B) 6000 C) 4000 D) 3000
SOLUTION: A=7x B =2x C =6x D = 5x
C-D =6x - 5x = 2000

X =2000
Budledr LIMI@G = 2x = 2 x 2000 = 4000
32. 5HenS LMHMILD DG 6vTl6dr eu Sl NG GLD 8:4 3|euTserledT 6wl 8 erflesT
QUIB& 6L DG LIL] 800, eTevll6L 5 eu(HMBIGHEHS S LIM &S euTaserfler euwl gl & L0
6TGOT6OT ?
A) 16:4 B) 9;5 C) 12:6 D) 10:4
NOTE: MCLIMEI SHemS L& 60T = 8X : 4x
euw gIserfledr QLIIHE 6V LDGLIL] = 800

8x x 4x = 800



32x° = 800

2 _ 800 _
x = =25

x=+25=5
SHCUMeMS W UGl =8x5:4 x 5=40,20
5 9L,600T(H B EH &S LNMEGS euw gl eNIGH GLh= (40 + 5) : (20+ 5) =45:25=9:5
33. e emLIugleL 1,32 35 [HITEOOTWIMIG 6T 4:3:2 6T60Tm T &5 6L 2_6iTerTeor. 6mLIugl6v
2 6Tl QLMSS QHMen & uiledr LG LIL] I500 eT6vr6L I2 [HITEUOT L I &5 61Tl 60T L0 G LIL]
6TGOT 60T ?
A) X100 B) X120 C) X150 D) X130
SOLUTION :
31,32 ,35 [HIT600T UL MBI & 61Tl 60T 6T6U0T6U01 15608 = 4x,3X,2X
1 [HITevoT W MG 6rl6tT Q0TS S LOFLIL] = 1x4x = 4X
32 [HTeoOT WIS 6Tl 60T QLOMSGS LDGLIL] = 2x3x = 6X
5 B TEUOT LI M1 &5 6171 60T 6T600T600T &60& = 5x2x = 10x
IH T600T W M1 & 61l 60T QDTS S LG LIL] = 500
4x + 6x + 10x = 500

20x = 500

— 500 _
X= == 2

32 pITeOOT WIS 6Tl 60T QMGG LOGLIL] = 6x = 6x25 = 150

34. HHIGLD F600T600T60 T CLIMTEOTMI 19 LOLMBI(G SH6OTLOMETS! ,Q &FLDL] & 650T6001 60 [T LI
CUITeTMI 9 LOLMI(G &H6OTIDMeuTSI1. @) eumenm eTeu 6Nl T &5 B 6L &6VIHS M6V

& 600T600T 60 T L1 GLITEOTMI 15 LOLMI@ &60T(LN6ITT 2_CeVMTEH S HeVemel FHenL &G0 ?
A) 1:1 B) 2:3 C) 1:2 D) 3:2

SOLUTION



SMHIGLD = 19X G 600T600I [ , QFLDL| = 9X & 6U0T6U0! [
X @JTD HHEISSMSUWLD y BKITD QFLDMUWLD &6V G CLITSI (X+y) 6T60rM &HeVLIL]
2 _GeLIMS LD 2 (HeUMEGLD.
X @b SEISID +y GITD QFIDL] = H6euLIL 2 CeUTSLD (x+y)
(xx19 Sevorevof ] ) + (yx9 &evorevofy ) = (x +y) 15 & evorevof [y
19x + 9y = 15x + 15y

19x - 15x = 15y - 9y

4x = 6y
X =6 3
4~ 4" 2

SBIGID : QFIDL =x:y=3:2

35. @\(1p eTevoTS 61Tl 60T NG & MBI 6IT 6:5 (NG 6V 6TEUOTEUVI60T 50% 6T60TLI S 420 6T6vTl6L
@) IT60OTL_ITLD 6T6UOT6UUI160T 25% 6T EUGITEY?

A) 50 B) 100 C) 210 D) 175

SOLUTION :

HS @\(H 6TE0OTSH6IT 6x,5x
(NS 6L eTevoT6voT 60T 50% = 420

50
100

) (6x) = 420

20.) (6x) =3

100

3x =420

x= 20 = 140
@\ TevoTLITID erevoreuolledr 25% = - X 5 x 140 =175

36. JITD , MG 6L LT W @) (Heurfledr eu@pHLOmeorid 8:9. ImLSl60T 6u(HLOMEOTLD 50%

2 WHHRMS.CH CUITETMI & 60160T 6U(HLOITEOTLD 25% (& 60 M & m 1.7 TS 65T



6U(HLOITEUTLD €1H.48000. 6T6vl6L IITLD LOMHMILD & 65160T LIS W 6U (IHLO ITEUT i &5 61T 60T
&G LD eT6dT6OT?

A)3:9 B)9:16 C)16:9 D)16: 15

SOLUTION :

JITD LM MILD [FITE69160T 6UJHLOITEUTLD = 8X : 9x

TmdledT eu(HLOITEOTLD = 8x = 48000

x= <220 = 6000

TIT&6960T 6UBHLOMTEUTLD = 9x = 9x6000 =54000

150

Tmsledr LS W eu@BLOmeoTD= 150% of 48000 = 0o X 48000=72000

TM&e96dr LS W 6u(BLOMmesTLD= 75% of 54000 = 40500
JITLD : TIM&69 65T LS W eu(pLOmeorLh= 72000 : 40500

JITLD : FIT(&69)60T 6u(HLOTeT Mg erfleor eN1& GLh=16: 9
37. e15.8052 % :%:% ereorm NS 55 BH 6L epeoTm LTSNS LN fl&5mev 9)LbeL 6ot m)

LT85 M1 & 611 60T Q155 IT61) 8585 61T 6T6L 6L 6TT6Y?

A) 210:280:315 B) 280:210:315
C) 315:280:210 D) 280:315:210
SOLUTION:

A:B:C = =i~ (2,34 6 15.6).10)

=(;x 12):(> x 12): (- x 12)=6:8:9
A=6x,B=8x,C=9y

A+B+C=805

6x + 8x + 9x = 805

23x= 805



x= 35

A=6x35=210, A= 8x35=280, C=8x35=315

38. (1 2.CeVITE Hevem6UUIl6L QFLDL|LD SIS HHTEH(PLD 7:9 eredrm T &5 F6v

2 _eTengl. @\ HS NFRHLMTeoTSI 3:591,8 LOMM 6T&HHeM6T BT STISITID CFITHSH
Geuetor(HLD?

A) 30 kg B) 32 kg C) 34 kg D) 36 kg

SOLUTION; —x 28

Q&L : 5ISSHMHD =7:9
1kg QFDLES = - SISSHTSLD
28kg Q&FIDL|& G = —x 28 = 36 kg

39. LUMsyIlD BHLD &HVHS &HEVEMEUWITETS eLNeTM LITSH pmisserflev 3:2, 7:3 ,11:4
eT6orm NP B 5 H 6L 2_6TeNG . CLNETMI LITS T TS H 6L 2_6T6T Hevemeuen il Gy
LUMS S TS S 6L 261 il6oTmeL H 6L & (G0 QLOMSH S SHevemeuulley Limev Wommitd Hflesr
A& 1D eretTeor? (PYQ)

A) 61:17 B) 61:29 C) 53:17 D) 53:29

SOLUTION :

WSV LITH T TS5 H 6L Sevemeuudledr ojemey =3 +2 =5 LIMIG

@\ TJevoTLMeUSI LIMTS B TS5 H 6L &Hevemeuudledr oj6mey =7 + 3 =10 LIMBIG

eNETMIMeU Sl LIMS T T8 H 6L Hevemeuuileir jemey =11 + 4 =15 LIMKIG

11 _ 18+21+22 _ 61
15 30 30

QLTSS LIMTeS 6T oj6mey =%+%+ LIMGI(S

. . 2. 3 4 _ 1249+8 _ 29 .
Qurss Hifler olarea = Sttt T 30 T3 MRS

61,29 _ 61

QUMES sevemeuuiley LimeL mHmih Biflerr @G0 = — 1< =—;



40. feorm LOMMILD 2_aqMedl6dr HMHCLITEMS W QU HIG6T (NemMGLL 24 61 (IHL MBI 6T
LM MILD 36 EU(HLMBIGGET 6T6vI6L 8 2,600T(H & EH & (S (N6OTL] 2_aqIT LnMMILD feor medl 6ot
euw Gl & erfleor eSS GLD 6T6OT6OTEU TS @) (H & & LD?

A) 4:7 B) 3:7 C)7:4 D) 7:3

SOLUTION :

Feorm = 24 2 QT = 36

8 91,600T(H & EH & (S (LN6OTL] If60TIT UG = 24 - 8 =16

8 91,600T(H & EH & (S (LN6ITL] 2_69 melledT Ul gl = 36 - 8 = 28

feorm LHMILD 2_aqmeileT euw S serfletT eSS0 = 16: 28

16
8

8 S4,600T(H & EH& & (WN6OTL Ifeorm LM MILD 2 aqmelledr euw giserler ell& Fin = -

feorm wHmib 2 eqrefler auwgisafler NSsn =

eTeorGeu 2_aqIm LnMmmILD feormedleor euwl S erfleor NG G0 = 7:4
41.17:24 eTetT) NGNS S S1L_60T 6T[H S 6TEUITEN60TS T L_LQ6UTITEL 6LV HLOIG S MEL 1:2

L5 LDMMIN?

A) 5 2 Sal L Geuevor(hLD B) 10 gnLL. Geuetor(hLD
C) 5 8 &&8 Ceausvor(hLD D) 10 &1 &8 Geuevor(hLD
SOLUTION

I1H G eTevor&6rfletT 9SG0 A:B =17 : 24
Fal LG 96V6v5l &LH1&SGLILIHILD 6T600T = X

A 17+x _ 1

B~ 244x 2
2(17 + x) = 1 (24 + x)
34+2x=24-34

x==-10



&10 BH1&5& Ceuevor(hLD

42. 200 R\JITLD 2.C6uMTS Hevem6eUUileL FIHSHTE (N STLSIFIOLD 5:3 6T6dTM
NS G5 T eL 2 6Tengl .Q\HS NS FHLOMETS 3:5 31,8 LOMM 6THSM60T H ML SISO
CFIsH 8 GeauevoT(hLD?

A) 143 &\gmb B) 116-&gmb  C) 126-&ymb D) 133 @ ymid

SOLUTION:

2_GeuITs HevemeUUIleir QLOMSS Sj6ema] =5+ 3 =8 LOLMIG
S155BM&ESH 6T SjeaTa] = 2-x 100 = 125 @Frid

5T TS& 6T ojemeay = —-x 200 = 75 GFMLD

LB sTs CFIssLUB LD STSTE S 6T 3|66 X 6T60rs

SI5SHBMSHLIN 125 _ 3

ST 75+x 5

5x125 = 3(75 + X)
625 = 225 + 3x

3x =625 - 225

x = 22 = 133 @\ymib
43. G5 m,flwm eredrm @\ (H HLTSH66dT eu(pLOMeorid 2:3 eT6dTm 696 & & )6
2 _eiTengl. 96U el Q&Feveserfleir IS S0 1:2 91,GLD .p6UREUMTIHEU(HLD LML
e. 24000 C&FLA& &R OTM6uTT 6T6vl6L Y euFSH6rlev BHmelledr LOMS 6U(HLOITEUTLD 6TEOTEOT?
A) 24,000 B) 48,000 C) 12,000 D) 35,000
SOLUTION
S5 : flumellesT eu@pLOMeoTLd = 2x:3y

6U(BLOIMEDTLD - GFLAILIL] = Q&F6v6Y



2x — 24000
3x — 24000

= =
2(2x - 24000) = 1(3x - 24000)
4x - 48000 = 3x - 24000

4x - 3x = 48000 - 24000

X = 24000

& & meil 60T 6U(HLOTEOTLD = 2x = 2X 24000 = 48000
44. ¢15.68000 2 FMhIGIT,](H600T,5ITTS D) 6T60TM eLOGITMI [HLITE 6155 (S % :%:%6 6T60T M

A G5HF 6L N5 ells5H5MT6L P& QFHMTensS QLIMILIGUT WITF?

A) FRIGT B) 3] (HevoT

C) &sMy5 S D) Si(B6voT LoHMILD STTSE)
SOLUTION :

FMhIGIT:|(H60OT:HMTTSH S = % :%:% =%><16 : %x16: %x16 = 8:4:5

FMhIGIT: | (HE0OT:HTTSH S = 8x:4x:5x
FhIG T+ ([HEVoT+&HMTTH B = 8x + 4x + 5x
&1E15 7= ——x68000 =32000

S1([B&TIT= —-—x68000 =16000

HMTSS) = ——x68000 =20000

& B& QFHTeMsE QU MILICUT FHISIT

45. @\iyevor(h) erevorgserfledr N G0 3:5 eT60TM NN FH G5 H 6L 2_6iTemeor.6uMnlev QLIFlw
6T6v0T 75.6T60116L @) T6voT(H) 6T6UOTS: 6TT160T Fon(h) &6V 6TEOTEOT ?

A) 40 B) 60 C) 120 D) 126

SOLUTION



@ evor(h eTevoraserfledr e S GLD = 3x : 5x

Quflw erevor = 5x =75

eTeurléL Sl eTevoT = 3x = 3x15 =45
=3x+5x =75+45=120
46. @)\ (IH 6T6UOTS 6T 3:4 6T6dTM 69T &5 B 6L 2_6ITETEUT 3|6UMMIL 6T 623 Fal(HILD CLIMTSI
IHG eTevoTevnrleor 616 & L0MeuTS 4:5 6T60T LOMMITH M S. 6T6vl6L {1HG 6T6voTSs 61l 60T
NG FWITEFLD 6T6oTEOT?
A) 2 B) 3 C)5 D) 6
SOLUTION

IHS 6TEUOTSH6IT A : B = 3x :4x

5(3x + 6) = 4(4x + 6)
15x + 30 =16x + 24
16x - 15x =30 - 24
X=6
IIHS 6TEUOTSH6IT = 3x : 4x = 3x6 : 4x6 = 18:24
ANGSHWTEFD =24-18=6
47. GLem g LM MIb /BITMEMeSludledr eflemevulleir eSS LD MeoTS 5:7.3]6u M M) 65T
aflemev & 6T (emMECW 10% , 20% T &HFlEHRMSI. erevflev LS W ellemeuullesr & LD
6T6OT 60T ?
A) 55:84 B) 15:32 C) 25:37 D) 46:23
SOLUTION;

Cuemg LoMMID BTMH&Tedluiletr eflemev (LLeMMBW = 5x,7x



Cemxyuilerr LS W edleémev = 5x + 10% of 5x

10 50x 500x + 50x 550x
= + — = I = -
OX + g XX = dxX + 1 100 100

BITHa&mTedludler LS W ellemev = 7x + 20% of 7x

20 140x _  700x + 140x _ 840x
= + — = + = =
TX 4 0 XTx = Tx + =00 100 100

550x , 840x
100 " 100

Cemg LnMMID BTM&TedludleT LH W aflemev = =55:84

48. A,B,C o1& CuImledr &FLOLIETHEISGET 3:4:5 eTedrm NG &5 H6L 2_6Tengl. 2er G
2 wyey (penmGCw 10%,20%,30% eupmiisLL L 6Ty 9euisenledr L& w

26r &) LI M1 &5 61Tl 60T 2_LWIJ6Y 6T60T60T?

A) 33:48:65 B) 48:65:33
C) 65:48:33 D) 33:65:48
SOLUTION;

2ar @ winkigerfletr eGS0 = A:B:C = 3x :4x :5x

21 2 WiFey&H @ LedrL Aullest 2erG\wild = 3x + 10% of 3x

10 3x 33x
= + — = + — =
3x 100 x3x = 3x 0 0

2arGlW 2 Wiyeys & NeorL] Bulledr 2er G\ wilh = 4x + 20% of 4x

— 20 _ 4x _ _24x
_4X+WX3X_4X+T_ 5

2arGlw 2 Wiyeys S Neor Culledr 2er G\ wiLh = 5x + 30% of 5x

13x
2

30
100

3
= 5x + ><5x=5x+7x=

Do~ — 33x, 24x , 13x
A:B:C = 2, 2. 13

=33x x 10: 24x % 10: 13x

0 P2 2><10

A:B:C = 33:48:65



49. (& LDMMILD TITRIT 6T6dTM @) (B HLITS6r60T 6u(HLOMeuTLd 5:3 eTedTm ¥ & &5 Fev
2 _eiTengl. Y euFserleir QFeveyserfler G GLD 9:5 91, D.JG €1H.2600 LOMHMILD T

15.1800 G&FLA & FH 6dTm 60T . 6T6vTI6L @) (H6U 60T 6L (IHLO ITEDT M6 856iT 6T60T60T ?

A) €15.5000, ¢r5. 3000 B) €5.9000,¢m5. 5600
C) €5.8000,¢r5. 4800 D) e15.10000,¢r5. 6000
SOLUTION:

U(BLOMEUTD — QF V6] = CFLAILILY
GU(BHLOITEUTLD = X, QF6VE] =y
A = 5x —9y = 2600 — (1)

B =3x —5y = 1800 - (2)

A 5Xx —9y =2600—— (1)
B 3x —5y=1800—— (2)

1,2) g2 Siss
(1) x - 3 =3 -15x + 27y =7800

(2) X - § ===y 15x -25y = 9000

2y =1200
Y =600

Yeor DS\LIem (1)6L LTS UL
5x - 9(600) = 2600
5x - 5400 = 2600

5x = 2600 + 5400

x= 2% = 1600

& @) (B [BLITS6rfl60T 6u(HLOTEOT IS ET = 5%,3x = 5x1600 = 8000 , 3x1600 = 4800.
50. e SHevTFludleL 2_6Tem QDTS G LOTEUOT6U 78 611 60T 6T600TEU0I 18608 660 B 6L
S1,600T85 (€15 LD, G\ LI 650TSH @B LD 13:9 6T6dTm NI& &5 FeL 2 6iTemeory. Fl6v HITLS& 6T &85 S

30 QUETOT&H 6T LU &TS aUlh Sl C&F (T eormeory.|C& CLIMeTmI & 6v ., 60015 61T



sooaurflenw el Q&FeaTmielH & 6eTMeTy. HHCLMTS 31,6007 LOMMILD GLI6woT
NI G0 6: 5 6T60I6V 678 FH6060T L, 600TSH 6T &L Flemw Sl () Q&F6dTmeoTy?
A) 20 B) 30 C) 40 D) 35
SOLUTION:
S1,600T&H6IT = 13X , GILIEDOT&H 6T = 9x
QLTSS LOITEUOTEU & 6T = 13x+9x = 660
22x = 660

660

oy =30

X =

S1,600T&H 61T = 13x30 =390
QLI60OT& 61T = 9x30 = 270
SHCUMTEI Sevauriludlev 2y, 6ot LI6vor NG SLD = 6: 5
U sTe CFTHS G\LI6uoTS 6T = 30
seosuniflemd eI B QF6TM 1,600T&H6IT = M

Spe0T  _ 390-M _ 6
Quevor 270430 5

5(390 — M) = 6(300)
1970 — 5M = 1800
5M = 1950 — 1800

5M =150

ST lenw Sl () Q& 60TM LOMEoOTEU T8 6T M =1—§O =30



Extra questions :

1. @ 6MLIUN6L 2_6IT6IT LIGF6 & LOM MILD LD EHF 6T LITH 518 61f160T 6T600T6001 185608 6816 &0
Bl6m6VWITEUTS .44 LD EHF 6T LITH SIS 6T @ (HHSH CLIMS LIFeE LITh S5 8 6rfl 6ot
6T6UOT6U0N & 6m& 36. LIF M & LITH S5 8611 60T 6T600T60011 86008 54 6160116V LD (65 & 61T

LI1H 81 & 85611 60T 6T600T6U0T 15560085 6T60T60T ?

A) 66 B) 62

C) 67 D) 64



_ (44 x54)
X=""3

_ 2376 _
X=— = 66

2. S|(H6VOTIT LOMHMILD QR 56T LT CWMTfledr FSMHCLIMMS W 6Uwl Gl 656 & M & 6T
wWenmGW 5:7,6TL () 6UHLMBEIG6T &S S 3| ([H6vorTedl6dr Ul G 28 eTevlleL 4 M
GU(BLMBIGEIT (LNEITL] (12285 601160T 6UWI S 6TEITEUTEUMS @) (H& (SLD?

A) 21 B) 22 C) 30 D) 32

SOLUTION:

S|(IH6VOTIT Q122856011607 6UW GI NF G MHIG6T = 5x,7x

6T (h QU(BL MG 6T &L08 S | (IH6evor melledr Ul Gl= 5x + 8

5x = 28-8 =20

5x=20 > =4

x=4

Q&6 HSMHCUTEMNSW UG =7x = Tx4 =28

Q28601 60T 6UW S 1M 6UIHLMBISHEHE G (LP6OTL] 28 - 6 = 22

3. @\pevor(h) G MemmgerfledT euemeTLILITLIL S 6rfleor eNI& LD 9:25 6Tevi16L ) 6u M) 6T

60T 966y & 6rfledr 61 G G0 6T60T60T?

A) 81: 625 B) 27 : 125
C) 255 : 81 D)3:5
SOLUTION:

3,3
ST 66 =a : b
Jo:/25=3:5

Her Sjemeysefler @D 37:5° = 27: 125



4. eLpedT I 6TevoT8s 6rfl 60T N G LOMEuTSI 1:2:3. j6UM NI 60T & 600T I &5 61Tl 60T For () &6V 4500

eTevl 6L eummledt QuIflw erevor?

A) 5 B) 25
C) 15 D) 20
SOLUTION :

X4 (2x0) + (30)° = (EX) =125

x=5

Quflw erevor 3 eTeoTG6U 3%x5 =15

5. @ QUL Lqu9l6L 5:6:86T60rm NHGHHH 6L 1 HLITLL,50 MLIFT LOMHMILD 25 OLIFT
1B ITEUOT LLI 61 85 61T 2_6IT6I60T. QDTS S G & Mema 240 erpLITUI 6T60TMITeV, 1 erp LI Tl

1H IT600T LI & B) 60T 6T600T 60011856085 6T60T60T ?

A) 100 B) 120 C) 160 D) 140
SOLUTION :

1 eHLIMUL,50 6OLIFIT LOMMILD 25 60 LIGIT [HIT600T L MI& 6T (NemmBU 5x,6x,8x
6x , 8x _

SX+T+T =240

5x + 3x + 2x =240

10x =240 = “1-=24

x=24

& 1 emHLIITUL [HIT600T U & G 60T 6T6U0T600I 185 6M8 5x = 5x24 = 120

6. @\ (b eTevuTS 61Tl 60T 61 &\ & MBI 6IT 6:5 (NG5 6L 6TEUOT600T 60T 50% 6T60TLIGI 420 6T60116L
@) I[T60OTL_ITLD 6T6UOT6UOI60T 25% 6T GUGITEY?

A) 50 B) 100 C) 200 D) 175
SOLUTION :

3|HS B)\(IH 6T6V0TS 61T 6X,5%



(NS 6L eTetoT6uoT 60T 50% = 420

29.) (6x) = 420

100

(-2 (6x) =3

100

3x =420

x= 2 = 140

@\TEOUTLITLD eTeuoTeuol6dr 25% =~ X 5 X 140 = 175

7. @\([H 6T6OOTS6IT 2:3 eT6dTM TGS T 6L 2_6TET6OT. (LG 6V 6T600TEU0I16V @) (HIH S @) Tevor(h
SP&SLULOS M LDMMILD @) T600TLITLD 6T60TenI L 60T @) F6voT(h) Fnl L LILHS M

315 60T LB W TR 1D 1:2 eTevileL @) T6toT(h 6T6v0T 8561l 60T Fon () &6V 6T 60T 60T ?

A) 30 B) 28 C) 24 D) 10

SOLUTION :

G\ (I eTEUOTS 61T 2X,3X

2x—2 _ 1

3x+2 2

4x -4 =3x + 2

4x -3x=6

FaB&H6v = 12 + 18 = 30

8. eLN6OTMI 6T6UOTS 6116V (NG 6L LM MILD @) [T60oTLITLD 6TevoTS 61Tl 60T 6191 85\ & MBI G 61T 8:9
@) J6UOTL.ITLD LOL.1Q.(HLD CLPEOTMITLD 6Tev0TS 61l 60T e T FHMBIG6IT 3:4 (LNSH6L LOMHMILD
CLOGOTMITLD 6T6U0TS: 6TT160T Q\LI(H & (& SHC HTem & 4800 6T6vI 16V CLOGOTMI 6T600T S5 61T 60T
. (D) &6V 6T60T60T ?

A) 1002 B) 1202

C) 1452 D) 140+/2

SOLUTION:



CLN 60T M| 6T60OTS 61T A,B,C 6T60TS

A:B =8:9:9

B:C =3:3:4

(8x3:9x3:9x4) =A:B:C = 24:27:36 = 8:9:12

(P S6EV eLN 6T M 6TevoTS 61160 QLIMIES &5 QS Ten s = (8x)x(12x)=96x"

96x°=4800

2_ 4800
96

x°= 50

x= 5.2

eLN 60T M 6T6v0T S5 61Tl 60T T () &6V = 8x + 9x + 12x

= 40-/2 + 452 + 60-/2

=145./2

9. eLpEdT M) aszs'urascﬁ(%):(%):(%) ereorm B 55 B 6L 2 6Tameor. QU IW MM P nflw

THRIGEHESES @) 6L Cw CeumiLIMT® 36 6T6ol 16V 3|IHG 6T6UVOTS: 6T LLITE0I6U?

A) 72,96,108 B) 72,84,108
C) 72,84,96 D) 60,72,96
SOLUTION :

2

LS efghise(3):(5):(3)
(%) x 12: (%)x 12: (%)x 12= 6:8:9

eLGITI ETETITESETT 6x,8X,9X

GeumiLIT@® 9x - 6x = 36

x=12 =(6x12,8x12,9x12)



CLN 60T M| 6T600TSH 61T 72,96,108

10. [HITEOT(& 6T6OOTS6IT 1:2:3:4 6TeoTm NFRGHHH 6L 2 6Tl UMM 6T Fa (DS 6V 160
6T6uf6L @) [J6UOTLITLD LOMMILD L ESTMITLD 6T600T8561T160T Fon(h) GH6V 6T60T60T 2

A) 80 B) 60 C) 100 D) 50
SOLUTION:

CLD 60T M 6T6DOTES 61T X,2X,3X,4X

X+2x+3x+4x = 160

10x=160

x=16

@) [J6COTLITLD LM MILD CLNEOTMITLD 6T600TS: 6T160T For(h) & 6V= 2(16) + 3(16) = 80

11. @ evor(® LWlema (LN(Y 6T6voTS 6Tl QLI(HSH G S Q& MTems 1575 Y eumnleir efl& gL
9:7 eT60i16L @) [T600TLY.6L FANIILLI 6T6TOT60) GUVT &5 IT6TOTSs:

A) 35 B) 45 C) 25 D) 55

NOTE:9x,7x

QUIBHS &S H TN (9x)x(7x) = 63x° = 1575

x2:25

x=5

F\ndlwi erevor 7x = 7(5) = 35

12. eHLIMLL 1980 eLN6TM HLUTSHEHSHES LURTHS SeflasluubGSBms (ngev Limnk S eor
UMW LD @) JeUoTLITLD LIMIG 60T eLnesTnileL 6p(H LIS S W LD, CLR6dTMITLD LIMIS 6T 31,06V
@(h LUGSH WD FLoLD eTevfl6v epauiflev 9H & LGS QHTens QlLIMILIGUIT 6T6U6U6TeY
QU MIGUITT?

A) 1000 B) 980 C) 900 D) 1080

SOLUTION



UG Q5Tans &6 (penmGw (_)=(_)=(_)

()= (5) and (£) = (£)=(3) and
A:B = 2:3:3

B:C = 1:1:2

A:B:C = 2:3:6

2x + 3x + 6x = 1980

11x = 1980

X=180

A
2

& B LIKIEG Q5 Tens = 180x6 = 1080

13. @(h GO DS T 6T QF6vey LMHMILD CFLAILIL&erleir eSS G 5:3 QFevey 3500

eTevll6L G&FLAILIL] eTeuGUGITEY?

A) e5.1,400 B) e5.2,100
C) e15.2,400 D) em.1,100
SOLUTION :

QgFevey=A GFlllLIL] =B
& A:B=5:3

Q&ea A=-32=700

Gl B =700x3 = 2100

14. elpLITL 3000 Y6018l FITLD,Ted, LN Mg B CWTIHE S LS THSI

efasUuGSMmal. 7ai Fmenwn 6SlL30 epUML S|FH &, KFsmay Fellemnw eSlL 60

eHUIMI B &OME QUMIGBMITH. eTevfl6v eLp6u 6T LIMI(E 8 EH8 S ©)60) L G W TeT

NG gD eTedT6OT?
A) 5:3:2 B) 2:3:5

SOLUTION :

C) 3:2:5 D) 2:5:3



A+B+C=3000

B=A+30

C=B+60=A+90

A+A+30+A+90=300

3A =180

A =60

epeurfler eS1& &0 = 60:90:150 = 2:3:5

15. e 6T (& TG 6rfl6L 2 6iTer LoMevoTeu [T & 6rfl60r G0 2:3:4 @U@ EUT(H
WETSsYILD 12 LOMEUITEUT& 6T Fa(hHVTEH CFTHELILILLITE HSH G 8:11:14
LT M S 6T60I 16V CLOGITMI (LNSITLDSH6TISVILD 2 6IT6T QILOITS S LOITEUUT6U T8 6T 615 85 60) 60T
cug?

A) 162 B) 108 C) 96 D) 54
SOLUTION :

R6UQGUIT(H (PSS TLASVILD 2_6TET LOMTeuoTEU 85 61Tl 60T 6T600T600T1 & 6085 2X,3X,4X

2x+12 _ 8
3x+12 11

22x + 132 = 24x + 96

2x =132 -96

X=18

QLTSS LOITEUOTEU TS 6T = 36 + 54 + 72 = 162

16.m:n = 3:2 6T60f16VL (4m + 5n) / (4m - 5n)6tT NG G LOG\LIL] 6T60TEOT?

A) 10:11 B) 22:3 C) 13:5 D) 11:1
SOLUTION:

4m+5n _ 4(3)+5(2)

4m—5n  4(3)-5(0)
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